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India no longer the world’s fastest-growing economy

Table 1.1: India — components of aggregate demand as % of total demand

Components of aggregate demand Quarter 4 Quarter 1
as % of total demand 2018 2019
Consumption expenditure 58.9% 56.8%
Investment expenditure 34.5% 31.8%
Government expenditure 9.7% 9.9%
Export expenditure 21.8% 20.0%

Source: Trading Economics

India’s income has grown at its slowest rate in almost five years,
according to the latest data released by the government. In the past
financial year - April 2018 to March 2019 - income grew by 6.8%. And in
the quarter between January and March 2019, it expanded by just 5.8%
- falling behind the rate of China’s growth for the first time in nearly
two years. This means India is no longer the world’s fastest-growing
economy. The new data make it clear that India is facing an economic
slowdown.



Unlike China, India’s growth in income has been driven by domestic
consumption over the past 15 years. But data released over the past few
months suggest that consumer spending is slowing, despite the
continuing growth in incomes. Motorbike and scooter sales are down.
Demand for bank loans has slowed and India’s leading maker of fast-
moving consumer goods, such as packaged food and drink, has reported
slower revenue growth in the past quarter. However, sales of
smartphones have continued to increase faster than incomes have been
growing. All of these are important indicators for measuring the state of
consumption spending.

The government has promised that it would cut income tax to ensure
greater purchasing power and some economists believe that the
government should also consider cutting business taxes in the next
budget, which will be announced in July 2019. These measures should
act as a stimulus for the economy.

India’s government has promised to spend US$1.44 trillion to build roads
and other infrastructure such as bridges and street lighting, but India’s
large budget deficit might restrict the government’s options. Many
observers say that this money will have to come from the private sector.
Experts say that the widening fiscal deficit will hold back medium-term
and long-term growth.

Weak exports have also been a problem when it comes to creating jobs.
In response the government is expected to prioritise policies that will

make Indian businesses more competitive.

Source: Sameer Hashmi, BBC News, 31 May 2019



(a) Calculate import expenditure as a percentage of total demand in India
in quarter 12019. [1]

(b) The Indian government promised that it would cut income tax to
ensure greater purchasing power for consumers.

(i) Explain how economists would measure the impact of a cut in income
tax upon the demand for different goods such as scooters and
smartphones. [2]

(ii) With reference to the data, explain whether the impact of the income
tax cut is likely to be the same on the demand for scooters and the
demand for smartphones. [2]

(c) Using the information, identify one policy that could be considered a
supply-side measure and explain how this policy could make Indian
businesses more competitive. [3]

(d) Discuss whether the advantages of cutting interest rates in the Indian
economy would outweigh the disadvantages. [6]

(e) Consider whether roads and other items of infrastructure in India
would be better provided by the private sector or by the government in
India. [6]

Total Marks: 20
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Economics Notes.
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notes.
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For A level, AS level, GCSEs and O level.

The fundamental economic problem

The fundamental economic problem is:

‘scarce resources in relation to unlimited wants'.

2 3

Scarcity: The excess of human wants over what can actually be produced to fulfil these wants

@ Resources: inputs available for the production of goods and services.

5 Wants: needs that are not always realised.

Choice

Choice underpins the concept that resources are scarce so choices have to be made by consumers,

firms, and governments.
: I

Choice involves sacrifice. The more food you choose to buy, the less money you will have to spend on

other goods.
: I

In other words, the production or consumption of one thing involves the sacrifice of alternatives. This

Sacrifice

Opportunity cost

sacrifice of alternatives in the production (or consumption) of a good is known as its opportunity cost.

Opportunity cost is the cost expressed in terms of the best alternative that is forgone.



Economics Essays.

What if you could score the highest grades possible on
your economics essays?

Subscribe and get access to a collection of high-quality A+
economics essays.

Well structured
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Question

‘Both the take-up rate and number of journeys per bus pass have been falling in recent years.'
Explain two factors which could lead to an increase in the demand for bus travel in the future,

(10 marks)

Culagary: Demand and suppl}-‘ AQA AS ECONOMICS MNovember

2020
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Economics Data Questions.

What's the optimal strategy to answer an economics
data question?

Subscribe and get access to a comprehensive STEP-
BY-STEP guide to tackling data response questions.

e Model Answers included.
e For A level, AS level, GCSEs and O level.

/_ SKIM THE DATA

Start by skimming the data.
Read the text quickly to get
a general idea of meaning.

N

COMPETITION IN THE
SKIES OVER EUROPE

It was predicted that this would
lead to an increase in the market
share for the top five European
airlines from 50% of the
European market in 2019 to
match the top five United States
(US) airlines, which control 77%
of the US market.

/ LOOK AT THE TITLE

Look at the title as it may give
some clues about its content.

ANALYSE FACTS,
FIGURES AND

/ TABLES

Analyse facts, figures tables

and diagrams. See if you know

what they mean. Pick out any
notable features of a chart or
diagram.

Read the Requirements

Always read the requirement first as this enables you to focus on
the detail of the question with the specific task in mind

What is the point in reading a scenario if you don't know what you
are looking for? If you don't read and understand the requirements
caretully, then you will find that you are not actually answering the
question. If you are not answering the question, then you are not

earning marks.

Pay attention to (1) The content and (2) The instructions

Explain what is meant by a contestable market and
discuss how making the airline market more contestable
could benefit passengers.
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(d) Explain two reasons why a government may privatise an industry. [4]

STRUCTURE
There are several reasons why a government may

privatise an industry, such as air travel.
CLEAR

/_ HEADINGS

Reason 1: Privatising_an industry may lead to an increase
in_ government revenue.

The government may earn more tax revenue if it
privatises a state-owned industry. This is because a
privately owned industry has to pay corporation tax. A
corporation tax is a tax levied on companies profits.

/_ PARAGRAPHS

The sale of a state-owned enterprise to the private

sector will also raise money for the government. REFERENCE TO

/_ THE DATA
In the data, it was mentioned that a successful sale of
Air India to the private sector would have raised money
for the Indian government.

More tax revenue will enable the government to increase SIMPLE ENGLISH
its spending on education, healthcare or /_
infrastructure. This will help to promote development

in the country.

Reason 2: The government may privatise an industry,
because the industry is making a loss.

The need to use tax revenue to finance the loss-making
industry will be reduced. The private sector may also
manage the industry with greater efficiency and turn
the loss into a profit. This is because the private sector,
motivated to make a profit, will increase productivity
and reduce costs.
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Looking for past paper questions classified by topic?

Subscribe and get access to hundreds of
economics multiple-choice questions.

e Classified by topic.

e Answers and Explanations included.
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